Standard & Poors Problems
Chapter 3
3.11
Use the annual income statements and balance sheets under the “Excel Analytics” link to calculate the sustainable growth rate for Loblaw Companies Ltd. (L) each year for the past four years. Is the sustainable growth rate the same every year? What are possible reasons the sustainable growth rate may vary from year to year?

3.12
Four Seasons Hotels Inc. (FSH) operates over 60 hotels in 29 countries. Under the “Financial Highlights” link you can find a five-year growth rate for sales. Using this growth rate and the most recent income statement and balance sheet, compute the external funds needed for ESA next year.

Chapter 5

5.56
Under the “Excel Analytics” link find the “Mthly. Adj. Price” for BCE stock. What was your annual return over the last four years assuming you purchased the stock at the close price four years ago? (Assume no dividends were paid.) Using this same return, what price will BCE stock sell for five years from now? ten years from now? What if the stock prices increases at 11 percent per year? 

Chapter 6

6.33
Enter the ticker symbol “SCC” for Sears Canada Inc. Using the most recent balance sheet and income statement under the “Excel Analytics” link, calculate the sustainable growth rate for Sears. Now download the “Mthly. Adj. Price” and find the closing stock price for the same month as the balance sheet and income statement you used. What is the implied required return on Sears according to the dividend growth model? Does this number make sense? Why or why not?

6.34
Assume that investors require an 11 percent return on ATI Technologies Inc. (ATY) stock. Under the “Excel Analytics” link find the “Mthly. Adj. Price” and find the closing price for the month of the most recent fiscal year-end for ATY. Using this stock price and the EPS for the most recent year, calculate the NPVGO for ATI Technologies Inc. What is the appropriate P/E ratio for ATI Technologies Inc. using these calculations?

Chapter 10

10.14
Go to the “Excel Analytics” link for BCE Inc (BCE) and download the monthly adjusted stock prices. Assuming you invested $1,000 in BCE at the close 12 months ago, what is your ending investment value? What was the average monthly geometric return over this period? What was the average monthly arithmetic return?

10.15
Go to the “Excel Analytics” link for Encana (ECA) and download the monthly adjusted stock prices. What was the average monthly return for Encana over the past year? What was the monthly variance of returns? The monthly standard deviation?

Chapter 11

11.46
Go to the “Excel Analytics” link for Nexen Inc. (NXY) and Thomson Corp. (TOC) and download the monthly adjusted stock prices. Copy the monthly returns for each stock into a new spreadsheet. Calculate the covariance and correlation between the two stock returns. Would you expect a higher or lower correlation if you had chosen Petro-Canada (PCA) instead of Thomson Corp.? What is the standard deviation of a portfolio 
75 percent invested in NXY and 25 percent in TOC? What about a portfolio equally invested in the two stocks? What about a portfolio 25 percent in NXY and 75 percent in TOC?

11.47
Go to the “Excel Analytics” link for Encana Corp (ECA) and download the monthly adjusted stock prices. Copy the monthly returns for ECA and the monthly S&P 500 returns in a new spreadsheet. Calculate the beta of ECA for the entire period of data available. Now download the monthly stock prices for Research In Motion Limited (RIM) and calculate the beta for this company. Are the betas similar? Would you have expected the beta for ECA to be higher or lower than the beta for RIM? Why?

Chapter 14

14.24
On January 23, 1998, Royal Bank of Canada and Bank of Montreal announced their plans for a merger. On April 17 of the same year, CIBC and TD Bank announced plans for a second merger. Both proposed mergers were later rejected by the finance minister and did not occur.



Using the S&P database or an alternative source, download daily data for returns on each of these four banks and for the TSX 60 Index for January and April of 1998. Assuming that the banks’ betas were approximately equal to 1, find the cumulative excess returns associated with each announcement. What conclusions can you draw?

Chapter 15

15.11
Refer to Enbridge Inc.’s statement of shareholders’ equity in Section 15.1.

a.
Suppose that the company issues 5 million new common shares at today’s market price. Prepare a new version of the table to reflect this financing. (Obtain the current price from a financial newspaper or from S&P.)

b.
Now suppose that instead Enbridge Inc. buys 3 million shares. These shares are cancelled. Revise the table to reflect this change.

Chapter 16

16.23
Locate the annual balance sheets for BCE Inc. (BCE), Magna International Inc. (MG), and Telus Corp. (TA). For each company calculate the long-term debt-to-equity ratio for the prior two years. Why would these companies use such different capital structures?

16.24
Look up George Weston Limited (WN) and download the annual income statements. For the most recent year, calculate the marginal tax rate, EBIT, and find the total interest expense. From the annual balance sheets calculate the total long-term debt (including the portion due within one year). Using the interest expense and total long-term debt, calculate the average cost of debt. Next, find the estimated beta for George Weston on the S&P Stock Report. Use this reported beta and the historical average risk-free rate and market risk premium found in Chapter 10 to calculate the levered cost of equity. Now calculate the unlevered cost of equity, then the unlevered EBIT. What is the unlevered value of George Weston? What is the value of the interest tax shield and the value of the levered George Weston?

Chapter 18

18.16 Locate the annual income statements for MDS Inc. (MDS) and calculate the marginal tax rate for the company for the last year. Next, find the beta for MDS. Using the current debt and equity from the most recent annual balance sheet, calculate the unlevered beta for MDS.

18.17
Locate balance sheets and stock market information for Bell Canada Enterprises (BCE). Calculate book-value weights for the firm’s capital structure. Find the market value of BCE stock and its market capitalization. Assuming that the debt is trading at its book value, calculate the market-value weights. How do they compare with the book-value weights? Find the weighted average cost of capital for BCE using each set of weights in turn. Explain the difference between the two WACCs. Which is the correct WACC to use for capital budgeting analysis?

18.18
Repeat your calculations using market-value weights in Problem 18.17 for two of BCE’s competitors in the integrated telecommunications industry. How does WACC differ among these three firms? What explains the differences?

Chapter 19
19.24
Find the annual income statement for Bombardier Inc. (BBD.A), Onex Corp. (OCX), and Barrick Gold Corp. (ABX). What are the dividends for each company over the past five years?Why would these companies have such different dividend policies? Is there anything unusual about the dividends for Bombardier? How could the company pay dividends with negative earnings?

Chapter 21

21.16
Look under the Edgar link for Bell Canada Enterprises (BCE) and find the most recent bond issue for the company. What was the amount of bonds issued? What are the coupon rate, maturity date, payment dates, ranking, and restrictive covenants on the bonds? What are the risk factors of the bonds outlined in the prospectus?

Chapter 27

27.16
List several short-term external financing options.

27.17
Locate the annual balance sheets for Rogers Communications Inc. (RCI.A) and Barrick Gold Corporation (ABX). What is the cash amount as the percentage of assets for each company over the past two years? Why would these companies hold such different amounts of cash?
Chapter 32

32.11
Nokia stock trades as an American Depository Receipt on the New York Stock Exchange. Assume that one ADR is exchangeable for one share of Nokia stock on the Finnish stock market. Find today’s closing price of the Nokia ADR. Assuming the exchange rate was $1.09/e and Nokia shares traded for e14.28, explain how you could make an arbitrage profit. What was the profit per share? What exchange rate is necessary to eliminate the arbitrage opportunity?

